15.)
‘i) ﬁjj 65’-30,_)4%:‘.8,

550 1S =3m

S o - 2'7\.1:\ 3
2 (o)

S3 5(5)- 2 (a5) du
)

2

( [\5 (5) - %(aSTL \gy:

(45— _:,;_3> 9

ISR =935
2 %



S o4
|5) Sb 14 v@dmd“a,
k)
4 J-4
4
4

4% _

= 0
4
q 3 -
D [ J7, e
1 () (D
=s5s

23) _f_: j: 2 Sin U d.«\-«)dw.
T nEsin
50 R


















3) A= 0, |
g7 o)
ol
=
1\) fi J\l d}jd‘)’b

/;Qaﬁch-ﬂu
oberneun 7












QM

| I Q2
f JNUD AN dm% yi= (n
o () in(y) %-'(Lmj >

Ihs n () = (ln(y)"= 0
n
[U"(@’}Uﬁ(\jﬁ bn(y) (tn (g - 1):
1 bn () =
(n(y) J
6’3 = @D
j"(}n(\pﬂ ‘
5 (M(EP et e
-0
-0



2 (' SNOO dod, M=
S' j% sinlmD  dyam
0o ) o It

. N
sin (o) }
|y

S\Sﬁﬂm3
0 ]
Ec@)mﬂo

| - @D















